
Benthic Macroinvertebrate Laboratory Bench Sheet

Station ID: _________________Sample Subsorted by: _________________Date Subsorted: _________________

StationName: _________________# of Grids subsorted: ___________

Date Sampled: ___/___/___ Total # of Subsorted Insects: ___________

Sampling Method: _________________Sample Identified by: _________________Date Identified: _________________
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Sub-sample and Sample Reduction
(per SOP)

Sub-sample and Sample Reduction Sheet 
 

                  Organisms found in first grid = __________   (Grid #_____)     
 
If  <30 organisms found, continue to table below. 
If >30 organisms found, discard 1st grid, enter # of grids for sample reduction and continue 
 to table below.    

  Sample Reduction?   Y___   N ____        Number of Grids selected for reduction =______ 
 
 
 Grid           # of     
I.D. #     Organisms 

Grid           # of     
I.D. #     Organisms 
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I.D. #     Organisms 
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Total organisms = _________           Total  grids = ___________ 
 
For sample reduction:    _______________  x   ______________  =  _______________ 
                                       (# of grids after             (correction              (corrected # of grids 
         reduction)                      multiplier)           from orig. sample) {A} 
 
 
IF after picking, there are >121 organisms, then return picked sample to 15-30 grid tray and 
remove grids (per SOP) to reduce sample to 121 organisms or less. Record data below. 
 
Total  # of organisms retained = __________ 
Grids removed to reduce sample to 121 organisms or fewer = ________ 
 Percentage of grids retained for sample (to total grids)  =  ________ 
 
________________  x   _____________  = _________________                                     
  (# of grids from               (% of grids              (final corrected  #  of grids  
 original sample {A})             retained)                from original sample) 
    


